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(1) 0.43+0.79 (2) 0.57 + 0.64

@ (1) 1.11 (2) 1.21 @ (1) 1.12 (2) 1.22
® (1) 1.21 (2) 1.22 @ (1) 1.22 (2) 1.23
@012 121

(1) 0.43 +0.79 = 1.22
(2) 0.57 +0.64 = 1.21
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4. ThSL HREA A AL NEAS,

(1) 7.81 4 2.89 - 2.31 (2) 3.334+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82

@) .39 (2) 5.92

(1) 7.81 +2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.33 +11.32 - 8.73 = 14.65 — 8.73 = 5.92
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6.

A 240 GAlS B2 7] AAGE AL 124 Q.

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 +4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365
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@ 0.38+0.84 © 1.84-0.17

®© 047405 ® 1.9-0.62

® 6060 @o0e0e ® 0009
® ©6.00 6 ©6.0,0

~&B

@ 0.38 +0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47 + 0.5 = 0.97

® 1.9-0.62 = 1.28

wabA 0.97 < 1.22 < 1.28 < 1.67 YU th,

Ait A7 2 A2 AHAR 7|32 AW O, @, @, ©YYtt
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@ 10.1 — 3.64
© 5.27 + 1.79
© 8.02-0.55
® 0-6-© @ 5-0-© ®e-ca
@® 066 ® ©-6-0
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@ 10.1 - 3.64 = 6.46

© 5.27 + 1.79 = 7.06

© 8.02 - 0.55 = 7.47

e, 2 5 E AEY = 7|28 23
© 747, © 7.06, @ 6.46 ©]ct.




9. & 153kgolA 2.876kg= HHULE 2 A2 H kgQlA| FSHA L.
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[> HE 12424kg

15.3 — 2.876 = 12.424(kg)
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w2tA 0.43 — 0.29 = 0.14 ©]t},




12. Axt At 7bd 2 A9 7158 2AA L.
@ 6.02-1.8 © 243+ 2.77 © 9.2-4.54
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@ 6.02 - 1.8 = 4.22
© 243 +2.77=52
© 9.2 - 4.54 = 4.66
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